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EXERCICE 1B.1
Déterminer les limites des fonctions suivantes :

. 4 . 6
a. lim x = b. lim lsz c. lim =
X oo x—0- X X e
. 5 _ o1 o1
d. Iim x = e. lim 5= f. Iim 5=
X x—0- X x—0- X
o1 . 1 |
g. lim 3= h. lim === i. lim 5=
x—=0+ X x—)0+'\/; X = 00 X
. 1 1 .9
o lim 5= k. lim == l. lim x° =
x—>0+ X x—=0-X X = =00
1 - 3 _ .
m. lim <= n. lim x° = 0. lim \/;c=
x—0+ X x -0+ x— 0+

EXERCICE 1B.2
Déterminer les limites des fonctions suivantes :

1 o1 o1
a. lim == b. Iim 5= C. Ilim <=
x>0 X x—>0+ X X > 4o X
1 : 1
d. im == e. lim 5= f. lim —=
x—>0-X x—>0-X X = 4o X
o6 — .1 .
g. lim x° = h. iim 5= i. lim = =
x—0- x> +oo X x— e X
. 1 .1 o9
. lim 5= k. Iim <= I lim x° =
x> -0 X x> -0 X x — 0-
o1 o1 . 4 _
m. lim 3= n. lim == 0. lim x' =
x— +oo X x—0+ X X = -oo

EXERCICE 1B.3
Déterminer les limites des fonctions suivantes :

a. lim 2x° = b. lim -4x’ = c. lim % =
x = +eo x = o0 x>0+ X
d. lim %= e. lim 3. f. lim %=
x—0- X x = -0 X x = -0 X
g. lim 2= h. lim == i lim S =
X = e x—>0- X X = 4o X
- - / 4 =
j- lim % = k. lim <= . lim -4x" =
x = -0 X x>0+ X X = Foo
m. lim 7x*= n. lim -7x = 0. lim -H[x=
X — +oo x — 0- X = +oo
EXERCICE 1B.4
Déterminer les limites des fonctions suivantes :
a. lim x°+x = b. lim x5+l= C. lim x5+l=
X = oo X = -oo x—0- X
. 1 . 1
d. lim x5+l= e. limx+== f. lim X -5 =
x - 0+ X x — 0- X x — 0- X
. =3 . _—
g. lim S +x = h. lim §—x= i. lim 5+§=
x—=0+ X x = -0 X X — oo X
jo lim 23 +3x* = k. lim 2x° +3x* = l. lim %_ 2=
X —> =0 x —0- X = oo X
. 5 3 _ .
m. lim %—l+5= n lim ¥ +x +2= 0. lim %—4x4=
X —>-o0 X X x — 0+ X = +oo X




